3.1-3.2 Quiz Form B




1. Which given ordered pair solves the system of equations following it? Substitute each value for x and y into the equations.
Show all work.
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A. (9,-2)      


B. (-2,-1) 



C. (-4,-5)      


D. (3,8)  
Use substitution to solve.



Use elimination to solve.

2. 
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  ________



3. 
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  ________

Tell whether each system is consistent and dependent, consistent and independent, or inconsistent.  Also, give the number of solutions.
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 A. One solution; Cons./indep.     

B. Inf. Sol; Cons./depend.



  C. No solution; Inconsistent     

D. Inf. Sol.; Cons./indep.
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 A.  No solution; Inconsistent      

B.  Inf. Sol.; Cons./depend.



  C.  One solution; Cons./indep.     

D.  Inf. Sol.; Cons./indep.
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 A.  No solution; Inconsistent      

B.  One solution; Cons./indep.



  C.  Inf. Sol.; Cons./indep.
         

D.  Inf. Sol.; Cons./depend.
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